
[image: image1.jpg]27. With a growth rate of 8% per annum, what will
be the production of a company in 2002, if the produc-
tion in 2000 is 170007
W19720 2198288 (3)18360
(@) Cannot be determined (5) None of these
28. A train running at specd of 90 km/hour crosses
a platform double its length in 36 seconds. What s the
ength of the platform in metres?
) 450 @200 (3300
(@) Cannot be determined  (5) None of these
29. In the following number series, one number is
wrong. Which is the wrong number?
11319 26 35 46 59
19 46 @13
@ 35 )26
30. A sum of money i to be divided among Z, X, Y
inthe respective proportion of 4 :5: 6 and another sum
0 be divided between A and B equally. If Z got Rs
2,000/ less than A, how much did X get?
(1) Rs 10000 (2IRs 5,000 (3)Rs 4000
(4) Cannot be determined (5) None of these
31. If twothird of one-fourth of one-third of a num:
ber is 6, what is the number?
108 @4 @%
@ 78 (5) None of these
32. A sum of money fetches Rs 240 as simple
Interest at the ratc of 5 p.cpa.after 6 years. Whatis the
principle amount?
(RS20 @Rs400  ()Rs 800
(@) Rs 1200 (5)None of these
33. An amount of money i to be distributed among
P,Qand Rin the ratio of 3:5 6. If R gets Rs 400 more
than Q, what is the difference between Ps and Q's
share?
(VRS1200  @)Rs800  (3IRs 1,600
(@) Data inadequate (5)None of these
34, 1f 20 per cent of a number is 12, what will be
tworthird of that number?
10 @20 @80
(@) 60 (5) None of these
38. Prabir is four years older to Jayesh at present.
After four years the ratio of their ages will be 3: 2. What
s Jayesh's age at present?
W) 8years  @4years (36 years
(@) Data inadequate (5)None of these
36. The area of a rectangle is 20 times its breadth.
The perimeter of the rectangle is 76 cms. What is the
length of the rectangle?
M 40ems  @36ems @18 cms
(@) Data inadequate (5)None of
37. Sixteen men can complete a work in twelve day
In how many days will twenty-four men complete the
same work?
a4 @8 @6
0 3 (5)None of these
38. Amit purchased a book with a 10% discount on
the labelled price. How much did he pay f the labelled

price was Rs 6007
() Rs480  (@)Rs360  ()Rs540
(@) Rs 340 (5) None of these
39, “The price of two tables and three chairs is Rs
5,600. What will be the price of six tables and nine
chairs?
(1) RS 16,800 (2)Rs 11,200 (3)Rs 22,400
(4) Data inadequate (5)None of these
40. “The average age of 24 boys ina class s 11. When
the teacher's age is included, the average increases by
one. What s the age of the teacher?
(1) 34years (242 years (3)36 years
(@) 48 years  (5)None of these
41, A shopkeeper sold some articles @ R 35 per
article and carned a profit of 40%. At what price cach
artile should have been sold so that 60% profit was
camed?
(M Rs45  @Rs42  (IRs39
(@) Rs40  (5)None of these
42. The present ages of Sunil and Anil are in the
ratio of 7 : 8 respectively. If four years ago, the ratio of
their ages was 5 : 6 respectively, what is Anil's present
age inyears?
16 @1 310
12 (5) None of these
43. If the length and breadth of a rectangular field
are increased, the area increases by 50%. If the increase
in length was 20%, by what percentage was the breadth
increased?
308 Q% 2%
(@) Data inadequate (5)None of these
44, Surjcet Singh's salary is 805 of Ranjee's salary
and 120% of Latika's salary. What is Surject Singh's
salary if Ranjeet's salary is Rs 150007
(1)Rs 10,000 (2)Rs 18,000
BIRs 12,500 @Rs 10,500
(5) None of these
45. 1f a number is reduced by 40% it becomes two-
third of another number. What is the ratio of the first
‘number to the second number?
@8:9  (3)9:8
) None of these
the approximate value of .

39999 4 190.877

798.87
1) 90 @70 @100
()80 )10

47. by sclling a book for Rs 270, 20% profit was
carned. What is the cost price of the book?

(M Rs216  (QIRs226  (3)Rs254

(4) Rs 225 (5) None of these

48. I the price of silver is Rs 3,810 per 100 gms,
what will be the approximate value of 15.7 gm?

(RS900 (RSG5 (3)Rs 6,000

(W RSG00  (IRs 750

49, The area of a rectangular field is 2100 sq
metres. If the field is 60 metres long, what is its





[image: image2.jpg]perimeter?
(1) 180 metres
(3)240 metres
(5) None of these
50. The mean of five consecutive numbers is 7.
Which s the highest number?
ms @10
®7 ) Cannot be determined

2)200 metres
(4) Cannot be determined

"ANSWERS AND EXPLANATIONS
1.(2) Multiplying each term by 6 and then
adding 1, we get the next term
- Reqd. no.~ 691x 6 + 1 - 4147
2.(9) Each term is twice the preceding term
Reqd. no.— 40
5.(5) Adding 1,3,5,7,9

get the next term

- Reqd.no.~ 26 4 9~ 35
4.(4) Subtract 2 from the term and then divide
the diff. by 2 to get the next term
1598

798

(5) Allare multiples of 5. Reqd. no. = 30
5x1,5%25%3,5%4,5%5,5%6 - 30

6.(4) 25+ 24 = Va9 =

70 orlortorx 10
5725

5 Xx=19x5x2x3 =570
8.0)
12.2)
16.3)
20.01)
24.0)
5.0%

2.0 Read. production 170000 1
~1oszss

25,630 20 o0 DosxT

- x=300
Length of platform - 2x - 600 m

29.(3) Adding 3,5,7,9, 11,13, we get the next no.
1143~ 14. 13is wrong, it should be 14

30.¢4)

3.4 3
0) No=6x 5 xx ] ~108
1x100 _ 240 100
RxT  5x6
33.(2) Let the shares of P., Q& R be Rs 3x, 5%, 6x

ATS 6x - 5x — 400

2.0 P= —Rs 800

x =400
Reqd. diff. = 5x — 3x = 2x = Rs 800
'um‘ﬂ ~125x-60

35.0)

LxB=20B=L=20
16x12

Reqd no. of days 8days

37.2)

(t's a question of Inverse Variation)
00-D%) ¢ 100-10)
100 S

= Rs 540

38.3) SP = MP.x

30.0

2 43y = 5600 1x3
6x + 9y = 16800 X = Cost of 1 table
y = Cost of 1 chair
40.03) Age of teacher =25 x 12 - 24 x 11 = 36 yrs

100 160

Read. price - 35 1% 190 _ g 40
41 Reqd. 140100
7x-a_s
2.0 =3 ox=2
-4 6 2

- Anil's present age — 8x — 16 yrs
43.(2) New area

120,000+, 150
1L 40Xy s x =25

44,69 Surjet's saary — %2« 15000 — Rs 12000

S 60, 2 x 10

5.0 ¥ =3Y Py g
400

46.03) g * 200 = 100 Gpprox)

17.4) cp.=270x 0 _py 205

120
48.4)
49.6) 2100 _ 55,
B T 60~ 3m

P =21+ B) = 260 + 35 = 190 m
XA DA DD b D)
5

Arca of arect _ 2100
50.(5) 7

>x =5
Highest no. ~x +4-514-9




